Areas of
Parallelograms and
Triangles
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You will be able to find the area and
GGSS perimeter of a parallelogram and a
triangle.



Area of Parallelogram
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Find the area and perimeter
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Find the area and perimeter
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Find the area and perimeter of each parallelogram
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Area of Triangle
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SANDBOX You need to buy enough boards to
make the frame of the triangular sandbox shown
and enough sand to fill it. If one board is 3 feet
long and one bag of sand fills 9 square feet of the
sandbox, how many boards and bags do you need
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9. The height of a parallelogram is 10 feet more than its base. If the area of the
parallelogram is 1200 square feet, find its base and height.
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10. The base of a triangle is one half of its height. If the area of the triangle is 196 square

millimeters, find its base and heig
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